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ATEEIS (%) 100.0 | 90.0 8.5 0.0 0.8 0.8 1100.0 ] 100.0 0.0 0.0 0.0 00]1000]| 625 | 250 00| 125 0.0
= F R (FAIL) Rl IR FR (EaL)
sowms| BotR| FER| BEE BEE BU |woenslsppn| Fem pes | nes BL
Hi 17 9 5 0 3 0 1 1 0 0 0 0
& (%) 1000 | 529 | 294 00| 176 0.0]100.0] 100.0 0.0 0.0 0.0 0.0
AIEIE 17 4 8 0 4 1 1 1 0 0/ 0 0
AIEIEIE (%) 1000 | 235 | 47.1 00| 235 59|1000|1000| 00| 00| 00| 00
K= (EAFAIL) = EEMER
| SERE DIE o | R | eEBE DIE e
sommn| B0 TR BES BEE B |zoes(sinm| ram pes | peg L
Hi 11 4 4 0 3 0 1 1 0 0 0 0
2145 (%) 1000 | 36.4 | 36.4 00| 273 0.0 | 100.0 | 100.0 0.0 0.0 0.0 0.0
HIEIE 10 4 3 1 2 0 1 1 0 0/ 0 0
ATEEIE (%) 1000| 400 | 300| 100 | 200 0.0 ]100.0 ] 100.0 0.0 0.0 0.0 0.0




